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Show your work! No calculators! Please draw a around your answers!
Please do not write on your desk!

1. (2 x 2 =4 pts.) Evaluate the limit, if it exists. Give reasoning.
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2. (6 pts.) Find where f(z) is continuous. Give reasoning.
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3. (4 pts.) Consider 3z* + 2zy + 3yt=1

(a) Find —Z—Z ( using implicit differentiation by regarding y as a function of x.
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(b) Find — using implicit differentiation by regarding X as a function 3
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4. (6 pts.) Using the definition of the limit, prove that li_% 11 — 5z = —4.
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5. Bonus (1 +1
No explanatiofis required.

(a) The definition of liin f(x)=Lis

TALSE

For all ¢ > 0, there is a > 0 such that
whenever |f(z) — L| < ¢, we must have 0<|z—cl<0.

(b) The primary online communication form in this course is the announcements tab on
http://www.mathncc.metu.edu.tr /content/courses/math119 /.
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